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FuTigg1a Garareray. HFaiiugalls) Gemmulmilsr
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Instructions: 1) Check the question paper for fairness of printing. If there is any
lack of fairness, inform the hall supervisor immediately.
2) Only blue or black ink must be used to write and underline. Pencil
can be used to draw the diagrams.
ugg — |/ Part -1
@Dt (i) gjemers s allarTdsEpdh@h allsnLwefdsayLb. 15 x 1=15
(i) srPssi__ prerg alleni_seaflsy aayb ghysmLw el ulmers
GsihosMSs GMUTL L 6T allewi_ullensrujb CFidg eTipsaLb.
Note: (i) Answer all the questions.
(ilChoose the most suitable answer from the given four alternatives and write

the option code with the corresponding answer.

1. ulqwsy | g wlguwe I 2161 Qur@ssd @OufGsmert LweTURSS
G5 6\% (hd % LD. ‘
g uwev | i gquiev I
1. ewpeoi ) Vsss@emnhs sevalumley al#lsin
2. Ay i) 10l oy Faswrer Lreder afldsib
3. uirdlQesrm uTGamr iii) Bla gfla @ertiQu@mssHaldsio

4. soriaflwir V) 1% oBla oar1” | FFEg) afldsib
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1 2 3 4
9. iii iv i ii
4 [ ii iii iv
3. v ii ii i
F. ii iv i iii
Match List - | with List - 1 and select the answer.
List -| List -I|
a) Niger i) Lowest literacy rate
b) Singapore ii) Highest sex ratio
¢) Burkina faso iif) Highest fertility rate
d) Latvia iv) Highest nutritional density Codes

1 2 3 4
a) (i) (v) @) i)
b) (i) (i) Gi)) (iv)
c) (v) (i) i) (i
d @ vy 0 i)

UTESENID 2_asTemioiwsvey?

) B)bs wrdf 19256 sriamsivr LIT&61V 6TesTeu e Clasr@ sl g

%) UL SHD'E srireyid sTapsgy OB BOSST @) @igulmiser

3) 20 BeTSHeT ouen &Aoot gy DLWSHO BB QatelCrrs fADmensvssir
Gumsb eui” Uiy QIEIGHafD Yjenioujib st M) AbglG i,

) g gleb'B’ STILDST(PS &1 LOTMyLD LDGWTL_VSe 5 &1 @510,



One of the following statements is false regarding the concentric zone theory model.
g

a) This model was given by Ernest Burgess in 1925.

b) Letter E in the model indicates medium — class Residentials

c) He envisaged that the development of a city outwards from a centre’ in concentric
zones in a ripple like fashion.

d) Letter B in the model indicates Zone in Transition

3. LsitougpeuaTarHmIsT SeuDTET e daIBISeT sTene?
(i) B fererrd @@ wWIFHD EHDIFGPRIES o&bs YSIUlbsddiqu
UMDV G0
(ii) @)&1 yalulsr isire_HugBuled &L S50 1 15% g2 uyphGEmgI.
(iii) £err WasLOUAW Fiflsroyppnees QaraL Brh mss COsTiibsg LNCrdw,
@BCHTCaTAWIT, HRTL_TIHMID HFWIT 2_6TETET.
(iv) 2 ovdleir Hlan@uilu B Wereryd o Husbsdl CFiud BTl FOTLT D55
CBTLThgI FaTT 2 66N
() |, il wpmd (jii) i Hid (<) il, iii, wHmid IV 1oL Bub
(®)) ii pmid IV w1 Hb (/) i LoHmD i L (Hib
Which of the following statements are incorrect?
i) Hydropower is a clean eco friendly and renewable energy.
ii) It contributes nearly 17% of the world electricity production.
iii) China has the largest potential of hydropower followed by Brazil, Indonesia,
Canada and Zaire.
" iv) Canada is the largest producer of Hydro electricity in the world, followed by China.
a) i, ii, and iii only b) ii, iii and iv only

c) ii and iv only d) i and ii only



4. @oupmlev sTgl HeunTSHL CLIT(HHS U|6TOTS.

<)) @leirusl seir SIEANICH]

<) L& L0lEseir ST LG

3)) o Curflgdlesrerv O\ H6T 9 Cflds LGS
) Lmedlutedr CgT@HSw LGS

Which one is wrongly matched?
a) Inuits — Arctic region
b) Pygmies — Kalahari
c) Aborigines — South America
d) Paliyan — South India

5. Wetreu@mid gamdmisefilsy 6Tbgd dnmhmy euret Greresflssr Geuerment torglfluilest
9|SWILOTEITLD H6V6V.
) @& s1585 Y&ATBILDHDES STOSETTEL GWliul B STenTiiLiBESTMS).
<) B)HSBVLILIEGS LppausIDd YmIEHeTTEVT, eweVHeTTEVT HMISHSIL_TSH FLOLOT 6T
yallliuglisnud Gl&renTheTears).
@) ALuEGS) WPupouGID LTINS WD STVBlEDeWD FTHm STeRTiILIHSENS).
7) afleuFTulser HFEULF OTUSHDETES GlFwOLIBSINT I S%6T
Which of the following is not the assumption of Vanthunen’s model of agriculture
theory?
a) The Isolated State is surrounded by an unoccupied wilderness.
b) The land of the State is completely flat and has no rivers or mountains to
interrupt the terrain.
c¢) The soil quality and climate are not consistent throughout the State.

d) Farmers act to maximize profits.

6. yReTevGaraller HmeaItiug YuSHSTET GoriflsaflsT gbgl Blensvsaflsy,
GYHBMSHeT CUFTSH BlFFWILTE L1 Blensvuilsh 2 _sirer Glomiflsaflsit eTewTeamntdand
o)) 457 Quriflser ' 93) 970 Guwmiflser
3)) 646 Gwriflser ) 374 Clwriflser



Of the UNESCO'’s five levels of language risk, the number of definitely endangered
languages children do not speak is

a) 457 languages b) 970 languages

c) 646 languages d) 374 languages

. WNereuLsupmled stg1 Gos&lstL et epow BlevsGariur’ e g ghssalldens?
9)) LS, BTTGausL 6D, UTTETHEL D, HTTT SL 6V, OTLIGL USL 6, SP&HEG

s TwedT &1L g alwenet L esT(h) PIPAIGILD 2 DM Cgurruﬂ@uug,n'sv

swwwBleiiLigglen Cued(hhgl TS (LPIgUITSHI.
©)) S Hd @ uTeneauestd, FrTefiw (FLyifl, @uuwinene, Fl6lLg L‘l"l_gufﬂ

HMID wFLFTWET e 6T D EleuDPlSTHETTERTOTS el Bl ILGSlenws
F1fBHSI SVUSWPIGUWTS-

@) Fipd@ 2Crriur srer spwir Beoliugdsd G Hiewpaumruilsy.

) @)8) ThSCeuT [ LsESSL B)BHHSID ewww Beliugd srésUiu@Gn ausnsulled
LeVaTTOTS &)(HaHEIMS).

Which of the following is not supporting the Heartland theory of Mackinder?

a) The heartland is inaccessible from top because North Sea, Norwegian Sea,
Barents Sea, Kara Sea, Laptev Sea, East Siberian Sea are all frozen throughout
the year.

b) The hearland is inaccesible from the bottom because of Middle Eastern desert,
Iranian Plateau, Himalayas, Plateau’s of Tibet and Siberian mountains.

c) The only gateway to the heartland is through Eastern Europe.

d) This makes heartland immune to any conquests from any other side.

. IRNSS @idlwralsy pisiGarmse emwaill_g ssaisL Goamal aiphiGLd

u@Gglseaflsr eTevsweLwITarTg @)bhalw sTeLemeLuNled BHHS! 6T6UGUETEY HTTLD
uenrETeTLILBHEDS?
<) 2300 &. 1f <) 2000 4. £ @®)) 1000 &. 16 ) 1500 &). 1f

IRNSS provides location information service to users in India and the region
extending from the Indian boundary for up to
a) 2300 km b) 2000 km c) 1000 km d) 1,500 km



9. Uereaumeusmeuniley s1g) o svdler HCaus semflsf]?

) Fe1Geu ewL_gufemevr 9p) FOLFL

@) vlrgujegr ) ugip 10000
Which of the following is the fastest computer in the world?

a) Sunway TaihuLight b) Summit

c) Pratyush d) Param 10000

10. &L’ Lib Blewevwirs yaTREG 2 wihg CETsusTy (5@ 0D @mraf

9) 0.01 15600.25 Q5.6 <) 0.1 v500.25 Q.8

3)) 0.01 gpssv 0.025 Qs.18 ) 1 s 0.25 Q.8
Sea level rise is occurring per year steadily at the rate of

a) 0.01 to 0.25 centimetre b) 0.1 to 0.25 centimetre

c) 0.1 to 0.025 centimetre d) 1 to 0.25 centimetre

1. &spmIEGYosTHEH0 A0 (EIA) @hswralie,rbilésiin oy ?

9)1947 <) 1950 3)) 1956 w) 1978
In which year was EIA introduced in India?
a) 1947 b) 1950 c) 1956 d) 1978

12. sirouGge QuiHensit UTGISTIILE FRISLD 6ThHS (6 CLIEHTSS @ hsGwibLT®
sTetTEIm GlFmevemevrs LwTUBSS U TIDLISH S
<) 1990 <) 1980 @) 1970 m) 1960
The International Union for the Conservation of Nature introduced the term

"sustainable development in

a) 1990 ~ b) 1980 c) 1970 d) 1960

13. Uiledt eupeustTounmy6iT 678 / 6Temou plenevwirer B&iym LGSullsst LissLdanm) /
Fn MY SHET?

) GwpBsg 50,000 waissTOsTems QETair wWeEW HaETors ()i s CaussT@Ib.



i) psrign wHpIbArTwiyn Biurss GURSHMeNE ClHETETL GG LIS s6T
ol BETSECHTE CBHSSLTT, LFeVUT, Fepst ClUTHeTTETrd CBTL L SHemerds
Ol TSIy (s & CoussT(HID
iii) 2 gsvevgy 3 uGsTETH Sl @b PULGS WD BETOUILTHTLD

) |, ii wHmb iii 9,) i Hmyd i

@) i wHmyoiii ) il i Bib
Which of the following is/are an essential characteristic/s of a Standard Urban Area?
(i) It should have a core town of a minimum population size of 50,000,
(i) The contiguous areas made up of other urban as well as rural adr;ﬂnistrative units
should have close mutual socio- economic links with the core town and
(i) The probabilities are that this entire area will get fully urbanised in a period of two

or three decades.
a) (i), (i) and (iii) b) (i) and (iii) only
c) (i) and (iii) only d) (iii) only

14. afleg (Drop), ep@ (Cover), g (Hold) 6TSITLIG| 6TH 60T (&N or It Lulh?

) & %) POp@SsD (@) lestearsy ) Qeusirentd
Itis important to practice Drop, Cover, Hold for

a) Fire b) Earthquake c) Lightning d) Flood

15. Wstaumeussroupmisir 61851 oo L1 QpifFasamrer OFwevaig)?
9) SpBseeiell Beliuriiurs @) mhsred STPUTET UGFH Seveug @ fluilsy
SO HS%I01& el
<) wWLILGH LTS B)HHESTL LTewD Fileyseneruyb Blevdafeysemeruyn salli

B)) wssewer WTTRUTH ewaSsIHGETsT

) sewevligglenw senrulsdmms 30 Q.8 2 WIGSMHEG WSTHUTYI s s
& rer.

Which one of the following is the rule of action for stampede?

a) Find lower place or cavity and squat there if the area is open.

b) Avoid rock slides and landslides if you are in the mountain.



c) Keep your hands by your chest
d) Keep your head not higher than 30 cm above the floor.

ugg Il / Part -1l

By Oasr@ssiiu’_Rerer allarréssalley G Ym aNSTTGEEHEHES FHSHIOTS
aflen_weflGasab. 24 — sug Casiralls@ sLLMuwrs allenL sTpseib.

Answer any six questions. Question No. 24 is compulsory. Bx2=12

16. HemMUTSRT L& ST THH ST BT6IT (@ &TIRTHIBDETE Fn M) 5.

Mention the four reasons for low density of population.

17. 058w suswflswreu L s5H&Ww(CBD) uwenflsar  weawr wéHhHELilenL_ulsomer
GoumiT(H 6T (3)7630Tiq 6D6IT 6T(LPSIS.
Mention any two differences between CBD and commuter zone.

18.2_sv&ler WlasliGuMWw srHDTED sThIGeTeng)? GleoliigFTeVIDi
STHMILILLBISTHeDLOHEIGTET LOTHIGVLD 677
Where is the world's largest wind farm located? In which state Jaisalmer wind park is
located?

19. presramid Blewevs QsTiNVISEEGL @mBSTID Bleweavd QBTifla& @b o srer Gaumyumt e
6‘!’@5}%
Write the difference between Quaternary and Quinary sector.

20. srgstropg Lieni_uiled @)erid suensiLBSSLILGEDS? SuDHewnd GPIIINGHS.
On what basis the race is classified into? Name them.

21. Armoiiyms @uyulpriyseilsT aemnssmart vl iquwed(hs.

List the types of rural settlement.



22. @b Flwirails %5  Hhmey 2 pudbdl  CFEupb @ miser gGHemid
@) ressTig sweard @M B,
Mention any two places of tidal energy production in India.

23.6lgTemev ety ewTiailsit o uililiysiter 2 _ewriflssr o ulliliupm o _swriflulled BB
steueurmy Geumu@BE g ?

How is active sensor different from passive sensor of remote sensing?

24 suenereysefleL 67631 BITD FTENEIMIIS HL GdHdHTn L TH?

Why we should not cross the roads at bends?

L Il / Part — Il

TCsHeID Y M| QISTTEHEHE G, p(H LS Sjemalled allen_wefldbseayb.
33-6ug Caeralldse@ s L Twwrs ailsnL_wefldbseayib.
Answer any six (6) questions.

Question No.33 is compulsory. ‘ 6x3=18

25.2 ewdlssr e LGLI W LMnenm @iflw Wetgry 2 Hugbd  Bleweowid
sThICs 9w hgsiTendg? @) hSlwraler@flw ler gnmev 2 Husbd unHm) eTpsI%
Where is the world’s single largest solar power plant in the world? Write about the

solar energy production in India.

26. allleurd &L rllHld @0 Blewevwrer LIrllBH&@n @ewr Cuiwrer CHeih cpsiTmy
Caimiurpsewers @GMILN(H .
Mention any three differences between expansive population pyramid and stationary

population pyramid.

27. auerBigHenerys LTH&ETHEGW suf] pewmaaflsy e7GHemID cpesTnlenestd @GOILLNGS.

Mention any three ways of conserving resources.



28. (BLGumBST) GwasrCaurCumredlsiv - GUILIL suenrs.
Write a note on Megalopolis

29. FOTFFTT LHTL_VHMG sUewTWMIGEH I F6T Wohdlwls Lfleysemerd @Ol @s.

Define cultural realm and mention its major divisions.

30.2 erey QFwmHenssGsmaflst TSI CpeITHI LT ST 6TAHI..

Write any three characteristics of spy satellite.

31. Cuents 5 HsCwbuT®h B)evs@Gaensr Gouslors HewL_ WD Yn| BTHHHET 6T(PSHIS.

Name six countries achieving sustainable goals the fastest.

32. Brib 7657 2 Ui BewyEETLigeid mbesresfifle Ceusoms epp@SCmmin?

Why are we drowning faster in fresh water than ocean water?

33.GLONASS unn)) &#maswrs ailerdgs.
Explain in brief about GLONASS.

L@ IV / Part — IV

DRSS TTHSEHSGLD allenL_wieflsseaLb.
Answer all the questions 5X5=25

34. QasTRESLILL_HSTET 2 608 Blovausn UL SH60 2 08 &ESET QGTend: LT sHHewuids
GPSSIsET Y Smsiupnl ADGHILILY T@Sis.
. (oysbe0g:)
CETRESULL BeTar 2 606 BlevauswruL_gdle) eo5Tousl mi LBleLeOIIST HaTBISM6Td

GUISHIS ST 1g APIGOIOL TS5
On the outline map of the world, show the areas of world population density and

write a brief account of them.

(or)
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On the outline map of the world, mark any 6 Million cities of world and write a brief

account of them.

35. auermisemen steuauflamaflsy wpLWSTUTL 19D E 2 L LEES0TID?

(oyebavg)
Clauuflsir Qs miflevs Heowalll & Caruri soi o M UL S I 6T allord@s.

What are the different ways of resources can be reused?
(or)

Elucidate Weber’s Industrial location theory with suitable diagram. |

36. @)pFwraisir wphslw Guriflsenerts upp) efleufdss.
(Spsvevg1)
GlISeir 78aamih apsirmy Qewsvur@Gseert's upm) alifleurs allerd & s.
Explain the major Languages of India
(or)

Describe any three functions of GIS in detail.

37. srevplensy wTHMS ST allenaraysamer allers g s.
(oyebavg)
g L CpMFedleTGumrg) tlerumhm Geusstigi QeFwsaldlserallarsds.

Describe the effects of climate change.

(or)

Explain the rules of action during Stampede.

38. Qb dwralley &hmiF @ srésh LR GVGS oflerdes.
(Dsvev1)

WIYFTI 6TeLemeVsh CHrHFafler auenasliuri_enL afllsuflGsaib.

Explain the Environmental Impact Assessment in India.

(or)

Describe the Genetic Classification of the boundaries.
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